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Question Number : 1 Question Id : 321011376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the primary curves of the spine?
Options:

1 % Cervical and lumbar

- » Lumbar and sacral regions

-  Thoracic and sacral regions

, % Thoracic only

Question Number : 1 Question Id : 321011376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 321011377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What part of the brain is the sensory relay station?
Options:

1 % Frontal cortex



> % Medulla

- » Tlemporal lobe

4 « Thalamus

Question Number : 2 Question Id : 321011377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Broca’s area for language production is a part of:

Options:
1 % Parietal lobe

- % Temporal lobe

- u Occipital lobe

4 « Frontal lobe

Question Number : 3 Question Id : 321011378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 321011379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following characteristics of bone is NOT correct?
Options:

, = Compact bone is the hard external layer of all bones.

5 of Macrophages are the living cells of bone tissue and form the mineral matrix of bones.
3 ®
Spongy bone is prominent in regions where the bone is less dense and at the ends of long bones.

4 = Spongy bone tissue is for compression in response to stresses.

Question Number : 4 Question Id : 321011379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 321011380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Visual field loss on same side of both side is known as:



Options:
1 ® Scotoma

- w Anopsia

- % Anomic aphasia

4 + Homonymous hemianopsia

Question Number : 5 Question Id : 321011380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e & F d T Feas F G J F G & F F@r FJ@r g2

Options:

. « TIHA ETH FrETHIS (TATAS THIAE)

, v SRREE FERE

Question Number : 6 Question Id : 321011381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fracture of wrist when a person falls on outstretched arms with fingers pointing outwards is:

Options:
1 « Colle’s fracture

- % Smith’s fracture
% % Greenstick fracture

4 % Comminuted fracture

Question Number : 6 Question Id : 321011381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hand bones does NOT consist of:
Options:

, = Carpals

> w Metacarpals

- » Phalanges

4 « Manubrium

Question Number : 8 Question Id : 321011383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT nerve innervating foot?

Options:



, w Superficial peroneal
Deep peroneal
Lateral plantar

4 Ulnar

Question Number : 8 Question Id : 321011383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 321011384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ability to sense the orientation of one’s body with respect to environment or space is:
Options:

, % equilibrium

-  Droprioception
= % ideation

4 % exploration

Question Number : 9 Question Id : 321011384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATEROT A AR F FET A Tl F wiR F I H FEAS B TAAT FAT FEonar 87

Options:



5 of Hﬁﬁﬁiﬂtﬁm
o % FCATCHSAT (HTSfETerE)

, HeduUT (TFECAILe)

4.

Question Number : 10 Question Id : 321011385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ability to perceive and recognise the form of an object in the absence of visual and auditory information, by using

tactile information is:
Options:
1 ¥ sterengnrasrs

5 u Aastereognosis

= % delusion

4 % hallucination

Question Number : 10 Question Id : 321011385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Muscle disease result in muscular weakness is known as:
Options:

, % Apathy

o u Atrophy

- » Hypertrophy

4 « Myopathy

Question Number : 12 Question Id : 321011387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Paralysis occurring on the side of the body opposite to the side of the brain in which the causal lesion occurs is:
Options:

, % Ipsilateral hemiplegia

- « contralateral hemiplegia

- u hemiparesis

4 w tetraplegia

Question Number : 12 Question Id : 321011387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 321011388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 321011388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inability to speak many words. understand speech and read or write is:
Options:

, « Global aphasia

> u Anomic aphasia

- % Wwernicke’s aphasia

, = Broca’s aphasia

Question Number : 14 Question Id : 321011389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
An older adult client with a history of falls and glaucoma is referred to OT for evaluation and intervention. Which visual

impairment should the OT practitioner expect as a result of the client’s glaucoma?
Options:
, « Peripheral vision loss

- % Central vision loss
- » Fluctuating vision loss

4 w Decreased focusing ability

Question Number : 14 Question Id : 321011389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 321011390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Involuntary writhing movement of fingers, arms, legs and neck is:

Options:
1 % Akathisia
- % Chorea

3 « Athetosis

4 % Afaxia



Question Number : 15 Question Id : 321011390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Impairment in motor or sensory function of the lower extremities caused by spinal cord injury is:
Options:

, « Paraplegia

- u Hemiplegia

- u Diplegia

4, w Quadriplegia

Question Number : 16 Question Id : 321011391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 321011392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where on the spinal cord if injured is most severa?

Options:
{ o Cl-¢5

5 % S1-85

4 % T6-112

Question Number : 17 Question Id : 321011392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
, ¢ Cl-¢5
. % L1-15

2 % S1 -85
L% T6 - t12

Question Number : 18 Question Id : 321011393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which word describe the difficulty in recognizing objects, smells and sounds but NO sensory impairment?
Options:

L Agnosia

> % Anosmia

- u Asomatognosia

4 ® Astereognosis

Question Number : 18 Question Id : 321011393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 321011394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a progressive disease?
Options:

, w» Muscular dystroply

> w Amyotrophic lateral sclerosis

= % Charcot-Marie-Tooth disease

4 « Cerebral palsy

Question Number : 19 Question Id : 321011394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

o AN giaed (Muscular dystrophy)

> ® gefremeT areT Ffa=ar (Amyotrophic lateral sclerosis)
. TREEHT-ES T
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Question Number : 20 Question Id : 321011395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 321011395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which reflex turns a babies head to the side when their arm is outstretched?

Options:
i « ATNR

- % Landau
= % Moro

4 % Plantar

Question Number : 21 Question Id : 321011396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a person has difficulty with hearing, memory and emotions, which part of the brain could be affected?
Options:

1 % Frontal lobe

> u Occipital lobe

= % Parietal lobe

4 « Temporal lobe

Question Number : 21 Question Id : 321011396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 321011397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An adult walks on the inner side of foot, it is called as:

Options:
1 % Inversion

> « Eversion
= % Flat footed

4 % Plantar flexion

Question Number : 22 Question Id : 321011397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 321011398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Difficulty in swallowing is known as:

Options:



, w aphasia

o o« dysphagia

- u dyspepsia

, w dysarthria

Question Number : 23 Question Id : 321011398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An occupational therapist observes a patient’s family member perform the Valsalva’s maneuver when lifting a patient.

Which of the following does NOT occur with the Valsalva’s maneuver?
Options:
, » Slowing of the pulse

> « Increased return of blood to the heart

- % Increased intrathoracic pressure

, = Exhaling with the glottis and nose closed

Question Number : 24 Question Id : 321011399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 321011400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient exhibits signs of cerebellar dysfunction. Which of the following is NOT a priority with the assessment?

Options:
, w Assessment of gait

- % Assessment of balance
= % Assessment of muscle function

4 « Assessment of cardiac condition

Question Number : 25 Question Id : 321011400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 321011401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A patient presents with stroke involving the hypothalamus. Which of the following is NOT indicative of hypothalamus
function?

Options:

, = Maintains body homeostasis

- % Thirst center

-  Sensation of pain

4 % Control of hormone secretion

Question Number : 26 Question Id : 321011401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 321011402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In DNA, adenine always base pairs with:
Options:

1 % Guanine

5 of Thymine
Cytosine

i

4 % Uracil

Question Number : 27 Question Id : 321011402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 321011403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 321011403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gout is generally associated with:
Options:

,  Ssmoking

- w low protein diet

- u Increased xanthine oxidase activity

4 « increased urate deposition in joints

Question Number : 29 Question Id : 321011404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 321011404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Retention of sodium in body leads to:

Options:
1 % water loss

- « water retention

- u Ppotassium loss

, % potassium retention

Question Number : 30 Question Id : 321011405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which hormone is released from the medial small intestine that mediates meal termination?
Options:

,  Amylin

-  Cholecystokinin
= & GLP

4w Pyy336

Question Number : 30 Question Id : 321011405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. Qﬂﬁﬂ'
. P
. STErT (GLP)

4 w Pyy3-36

Question Number : 31 Question Id : 321011406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 321011406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is released from the hypothalamus and GH secretion from the anterior pituitary.

Options:
; + GHREF, stimulates

> % IGF-1, stimulates
5 % Somatomedins, inhibit

4 % Somatostatin, stimulates

Question Number : 32 Question Id : 321011407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What compound induced by exercise stimulates browning of white fat cells?

Options:



» Ephedrine
> « Irisin
% Leptin

» B-2 agonist

Question Number : 32 Question Id : 321011407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 321011408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
activates pancreatic enzymes to digest dietary lipid.

Options:
i & CCK

5 u Cholesteryl Esterase

= % Secretin

4  ITypsin

Question Number : 33 Question Id : 321011408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 34 Question Id : 321011409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cholecystokinin is secreted from where to act on where?

Options:
 » Pancreas, to act of the small intestine

» u Pancreas, to act on the gall bladder

5 % Small intestine. to act on the liver

4 + Small intestine. to act on the pancreas

Question Number : 34 Question Id : 321011409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cobalamin is also known as vitamin:
Options:



Z Bé6

4« B12

Question Number : 35 Question Id : 321011410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calcium absorption into the mucosal cells of the small intestines depends on to induce calcium binding protein

synthesis.
Options:
1 % vitamin A

> % vitamin B9
%z % vitamin C

4 « Vitamin D
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Question Number : 37 Question Id : 321011412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Unlike the other water soluble vitamins, B6 can be stored

Options:
1 % bone marrow

> % liver
3 « muscle

4 % lymph

Question Number : 37 Question Id : 321011412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The main role of the Krebs cycle is to:
Options:

, % produce amino acids



5 # produce ATP
5 o produce NADH and FADH

, = synthesise fatty acids and cholesterol from citrate

Question Number : 38 Question Id : 321011413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 39 Question Id : 321011414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is FALSE?

Options:
, = Action potentials last longer in cardiomyocytes than in skeletal muscle.

-  Cardiomyocytes are not striated.

- w Cardiomyocytes are smaller than skeletal muscle fibres.

4 %
Cardiomyocytes usually have only one nucleus, whereas skeletal muscle fibres are multinucleated.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 321011415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bluish color discoloration on nail beds, finger tips and lips due to cold or decreased cardiac output is:
Options:

|« CYanosis
> % hirsutism

- % gangrene

vitiligo

Question Number : 40 Question Id : 321011415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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3% W FA FSTF FBTIC F FRUT AGA & def, Wl + I 3R g3t &7 Ao F=r FEenar
g7

Options:

| o TSRS (FTedT)
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Acid fast stain is used to detect:
Options:
1 % Clostridium tetani

-  Mycobacterium TB

=z % HIV/Aids

4 % Meningococci

Question Number : 41 Question Id : 321011416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Liquefactive necrosis is commonly seen in:
Options:

1 % liver

> w lung

4 ® Spleen

Question Number : 42 Question Id : 321011417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 321011418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Physiologic programmed cell death is:

Options:
, w Autolysis

5 % Autopsy

- u Lysis

4 « Apoptosis

Question Number : 43 Question Id : 321011418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 44 Question Id : 321011419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of estrogen hormone can cause:



Options:
1 % Osteoarthritis

- % Rheumatoid arthritis
= # Gout

i Osteoporosis

Question Number : 44 Question Id : 321011419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 45 Question Id : 321011420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT true about Clostridium tetani?

Options:

, % ItisaGram positive bacilli with terminal spore.

- % Tetanus can occur weeks after the initial infection.

-  Ihe symptoms of tetanus is produced by an endotoxin.

4 % Tetanus antitoxin is ineffective when the toxin enters the nervous tissue.

Question Number : 45 Question Id : 321011420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 321011421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the greater tuberosity of the humerus is lost. which of the following movements will be affected?

Options:
1 % Adduction and flexion

- « Abduction and lateral rotation
= % Medial rotation and adduction

4 % Flexion and medial rotation

Question Number : 47 Question Id : 321011422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 47 Question Id : 321011422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following is the best treatment for a patient who develops compartment syndrome following manipulation

and plaster for fracture of both bones of legs?
Options:
; % Split the plaster

> % Infusion of low molecular weight dextran

- » Elevate the leg after splitting the plaster

4  Operative decompression of fascial compartment

Question Number : 48 Question Id : 321011423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the last step in the healing of a fracture?

Options:
1 % Hematoma formation

- % Consolidation

- + Remodelling

4 % Callus formation

Question Number : 48 Question Id : 321011423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 321011424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a desirable in the union of the fracture site?

Options:

, « Formation of fibrous joint or pseudo arthrosis

- » Remodelling of bone

= % Formation of blood clot

, w Formation of procallus or osseous cells

Question Number : 49 Question Id : 321011424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 321011425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mast cell granules produce anaphylaxis because they contain:

Options:



. w lysosomes
proteolytic enzymes
lymph toxins

4 « Vvasoactive mediators
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 321011426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Osgood Schlatter's disease is osteochondritis of:

Options:
1 « tibial tubercle

» % femoral head
% % lunate

, % capitulum of humerus

Question Number : 51 Question Id : 321011426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 52 Question Id : 321011427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 25 year old restrained driver is involved in a head-on motor vehicle crash. Two weeks later. the individual complains

of pain and paresthesias in the thigh. No loss of muscle strength is noted on examination. but there is a decrease in
sensation in the symptomatic thigh. Which neuropathy is the most likely etiology for this patient’s complaint?
Options:

, % lioinguinal

- % Obturator

= « Lateral femoral cutaneous

4 = Saphenous

Question Number : 52 Question Id : 321011427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 321011428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the most common pathology underlying rotator cuff disorders in the nonathlete?

Options:
, w Deltoid atrophy

o  Subacromial impingement

= % Acromioclavicular arthritis

, = Bicipital tendon disorder

Question Number : 53 Question Id : 321011428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 321011429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An occupational therapist at an outpatient clinic is returning phone calls that have been made to the clinic. Which of the

following calls should have the highest priority for medical intervention?
Options:

, % A middle-aged patient reports, “My knee is still hurting from the TKR".

2 i
A patient that received an upper extremity cast yesterday reports, “I can’t feel my fingers in my right hand today™.

- % A home health patient reports, “I am starting to have breakdown of my heels™.

, = A young female report. “I think I sprained my ankle about 2 weeks ago™.
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Question Number : 55 Question Id : 321011430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An occupational therapist is assessing a rupture of the ulnar collateral ligament of the thumb. Which of the following

terms is another phrase for this condition?
Options:
, = Mallet finger

> u Early signs of CTS

o o Gamekeeper’s thumb

4 % Herberden’s nodes

Question Number : 55 Question Id : 321011430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 321011431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A computer programmer arrives in OT clinic and complains of pain while on the job. Which of the following work

related injuries he is expected to have?
Options:
1 % Burns and electrocution

o  Carpal tunnel and chronic cervical tension

- u Edema and paresthesia’s

4 # Systemic diseases

Question Number : 56 Question Id : 321011431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 321011432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the most appropriate position for hip replacement clients performing lower body dressing?
Options:

|« Sitting on the edge of the bed



5 w Sifting on a hard toilet seat

- » Standing in the bathroom

4, = Standing near the closet

Question Number : 57 Question Id : 321011432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 321011433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which client is most likely to experience a hip fracture?
Options:

, % A 40 year old man with diabetes

5 o A 55 vear old woman with osteoporosis

5 % A 17 year old athletic girl

4 # AS55year old man with dementia

Question Number : 58 Question Id : 321011433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 321011434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 321011434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The primary means of heat transfer with the use of hydrotherapy is:
Options:

1 % conduction

- o convection
5 % conversion

4 % radiation

Question Number : 60 Question Id : 321011435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 30-year-old man presents with low back, knee, and ankle pain of two months’ duration. He also has had burning on

urination. Physical examination reveals a rash over the palms and soles. Sacroiliitis is present on radiographs. The
clinical diagnosis is:

Options:

, = Ankylosing spondylitis



- w Psoriatic arthropathy

= % Gonococcal arthritis

s Reactive arthritis (Reiter disease)

Question Number : 60 Question Id : 321011435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 30 Ity w@fda &t & A ¥ 9 ¥ A= W, 9o ¥ e A &2 Bl 3§ e = H el
g g1 2T TReToT ¥ gAfeE HR SerEl W g%ed #9491 e gl EOeE W dwsasied Alg
¥ =EE e e Fr ¥

Options:

| % JTdTeRIe HIRRIAT

o R aﬁﬁaﬂ'aé'
ENGIEIETS BT

. Tiafsrameiier s1fear (TgeT )

Question Number : 61 Question Id : 321011436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 45-year-old woman presents with a three-month history of non radicular low back pain but no history of frauma. X-

rays show degenerative changes and grade 2 spondylolisthesis at L4-5. What is the best recommendation?
Options:
1 % DBed rest for two weeks

5 of Abdominal muscle strengthening

- % Isokinetic back extension strengthening

g % A polypropylene body jacket
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 62 Question Id : 321011437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient experiences pain and decreased motion in the right shoulder following a radical neck dissection for laryngeal

carcinoma. On examination, you note atrophy and weakness of the ipsilateral trapezius. Passive range of motion (ROM)
is normal; however, active ROM shows decreased shoulder abduction and decreased scapular rotation. Your therapy
orders should emphasize strengthening exercises for the:

Options:

1 + Rhomboids

- u Pectoralis major

- u Infraspinatus

4 % Latissimus dorsi

Question Number : 62 Question Id : 321011437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 321011438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 14-year-old boy presents with a three-month history of knee pain. The pain is most marked in the area of the tibial

tubercles bilaterally and it increases with activity. Physical examination is unremarkable. What is the likely diagnosis?
Options:
1 % Patellar tendinitis

5 of Osgood-Schlatter disease

= % Patellofemoral arthritis

4 % Rheumatoid arthritis
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 64 Question Id : 321011439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient with osteoarthritis presents with pain in the carpometacarpal joint of the thumb. What is the most appropriate

splint?
Options:
. = Ring

- % Resting hand

- u Spring coil extension assist

s Thumb Spica

Question Number : 65 Question Id : 321011440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the expected outcome of effective exercise training in a pulmonary rehabilitation program for patients with

chronic obstructive pulmonary disease (COPD)?
Options:
, w» Reduced need for supplemental oxygen

o  Reduced dyspnea
- » Improved radiologic status of the lung fields

4, = Slowed loss of forced expiratory volume
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A person with a score of 3 in Glasgow coma scale would look like:
Options:

1 % alive and well

> w awake but very confused and disorientated

5 o in adeep coma/dead

4 % in a semi-conscious state
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An OT practitioner is working with an adolescent with a traumatic brain injury on cooking skills. While completing an

activity analysis of making simple meals on the stovetop, the practitioner notes that the client must be able to judge the
relative distance between self and the stove to safely complete a cooking task. Which visual perceptual skill does the

client need to be able to judge this distance?

Options:



1 % Visual closure

- u Position in space

- « Depth perception

4 % Visual memory
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While evaluating a patient in early stage of amyotrophic lateral sclerosis with weakness in thenar eminence, an

occupational therapist will observe the effect on which function of the patient?
Options:
, w Iransferring from bed to bedside commode

- » Tlaking a sip from glass of water
% Reaching overhead to don a T shirt

o

4 + Squeezing toothpaste onto a toothbrush
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One week after onset of Bell palsy, what is the most reliable electro diagnostic parameter for predicting ultimate

recovery?
Options:
, = Quantity of fibrillation potentials present in the denervated muscles

> % Recruitment abnormalities in the affected muscles
% % Blink reflex latencies

s Side-to-side comparison of motor evoked amplitudes
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In a patient with an acute spinal cord injury (SCI), intermittent catheterization should be instituted:

Options:
, % Wwithin 24 hours of injury

- + When regular, controlled fluid intake is occurring
- % When spinal shock is resolved

4, % When the patient can perform self-catheterization
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Ankyvlosing spondylitis is a type of that affects the
Options:

, = Infection, spine

> w arthritis, knees

5 % inflammation, brain



4« arthritis, spine
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a symptom of Parkinson’s disease?

Options:
, » Cogwheel rigidity

- » Resting tremors

- » DBradykinesia

4 +« Dementia
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Correct Marks: 1 Wrong Marks: 0.25
A five-year-old child is suffering from headache. morning vomiting and double vision for three weeks. On examination,

nystagmus is present when the eyes is turned to either side. The most likely diagnosis is:
Options:
, = Craniopharyngioma

> w Aseptic meningitis
= « Posterior fossa tumour

4 % Acoustic neuroma
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A child with tactile defensiveness is receiving intervention from an occupational therapist using a sensory integrative

approach. In introducing tactile stimuli to the child, the most appropriate method for the therapist to use is to:
Options:
, = Aapply the stimuli in the direction opposite of hair growth with vision occluded

> w apply light touch across the face and abdomen with vision occluded



- w provide light brushing across the palmar surfaces of the extremities with the child watching

4 « Drovide deep touch and firm pressure where the child can see the stimuli
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Which of the following is NOT included as a common complication of spinal cord injury?
Options:

, w Deep vein thrombosis



> « Diarthea

- » Heterotopic calcification

4 % Pressure sores
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Which of the following is true about Cauda equina syndrome?

Options:
, w Involves large sensory fibres Initially

> % Isnot associated with back pain

-  Results from compression of nerve roots

4 % Results predominantly in an upper motor neuron lesion
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Who would benefit from a flail arm splint?
Options:

, « Brachial plexus injury



5 u Flexor tendon injury

- » Radial nerve palsy

4 % Rheumatoid arthritis
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What type of grip do you need to put a key in a door to unlock it?

Options:
, = Cylinder

- % Hook

-  Lateral pinch

4 % Plate
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The Functional Independence Measure (FIM) assesses:

Options:
, = Dparticipation restrictions

prognosis
impairment

activity limitations
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Interventions that focuses on person with disability from developing further complications and focusing on maximizing

quality of life is:
Options:
, w Dprimary prevention

- % Secondary prevention
- o tertiary prevention

, % primordial prevention
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An individual recovering from hip replacement surgery prepares for discharge home. He has a secondary diagnosis of

GERD. The most appropriate bed position for the occupational therapist to recommend is:
Options:
| supine with elevation of the shoulders and head

> u sidelying with the neck in neutral

- u sidelying with elevation of the shoulders and head

4, % supine with elevation of the hips
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Which of the following is NOT a potential complication of tracheostomy ventilation?

Options:
, w Increased risk of respiratory tract infection

- % Tracheal stenosis

-  Paralysis of the posterior aspect of the palate

4 Tracheoesophageal fistula
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Which of the following statements in the patellofemoral joint reaction force (PJRF) is NOT correct?

Options:
, w» PJREF is the force compressing the patella against the femur

> % PJRF becomes greater with increasing quadriceps tension activity
- » PJRF becomes greater with increased knee flexion

o, During squatting, PJRF increases to twice body weight

Question Number : 83 Question Id : 321011458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qIETEARS Y 9fafear a9 (PJRF) # =faf@a # ¥ 37 o1 Fa7 T8 785 &2
Options:

. % PJRF FoR & WeTd T & THfEa e arem 9 ¢

., » PJRF 9gd FEgHcH oad A & @1y 5 e T

. PJRF gea8 &I §f& & @1y ogd 9 Sar ¢

B

4KFE|T%T¢?TTIT-L PJRF aﬁém#ﬁ?ﬁﬁma@ﬂd.%—

Question Number : 84 Question Id : 321011459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In cervical spine disorders. a cardiothoracic stabilization programmer is designed to limit pain. maximize function and

prevent further injury. Which of the following treatment modalities should NOT be included in this rehabilitation
programmer?

Options:

, w Postural training

> « Eccentric isokinetic exercises of the neck extensors

- % [Iraining and coordination of the muscles in the neck area



4 % Isometric and isotonic resistance exercises of the cardiothoracic muscles
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Which condition would qualify as an impairment according to the International Classification of Function (ICF)?

Options:
1 #% Short stature

-  Loss of hearing due to occupational exposure

- % Inability to work due to chronic illness

4, = Inability to walk one block
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For geriatric patients in inpatient rehabilitation, what is the treatment of choice for short-term insomnia?

Options:
, % Amitriptyline

- % Diphenhydramine hydrochloride

- w Diazepam

4 « Zolpidem tartrate
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To reduce flexion hypertonicity at the elbow following a stroke, the muscles to be considered for botulinum toxin

injection include the biceps brachii, brachialis and:
Options:
, % pectoralis major



5 w teres major

= % coracobrachialis

4 « brachioradialis
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A water-based solution in which organelles, proteins, and other cell structures like ER and mitochondria float is:

Options:
, = plasma

5 of cvtosol

- % lymph

4 % amniotic fluid
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The ability of the sensor to see small differences in reading is called:
Options:

1 « resolution

- % drift
= % offset

4 % linearity
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An imaging test that uses a radioactive substance to look for disease in the body is:
Options:

, = arterial blood gas



> w pulmonary function test

5 o positron emission tomography

4 % mantoux test
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The voltage developed at an electrode-electrolyte interface is known as:

Options:
, w Testing potential

o o electrode potential

- % action potential

4, = polarized potential

Question Number : 91 Question Id : 321011466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e SAFEIS-SoFEIANSE SehH H fAefid diecsl & FFARgaR = Srar ¢

Options:



> o FOFEIS &THAT
5 w ThaT W
g 40 TR T

Question Number : 92 Question Id : 321011467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is an electrical pulse generator that starts or maintains the normal heart rhythm.

Options:
1 % Defibrillator

- « Pacemaker

- % Dacron patch

4 % Stent
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Aesthetics of appearance is called:
Options:

1 % Orthosis



> « Cosmesis

- » Lymphosis

4 % Homeostasis
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In an electrolytic cell, the electrode at which the electrons enter the solution is called the : the chemical change

that occurs at this electrode is called
Options:
, % anode, oxidation

» w anode, reduction
- w cathode, oxidation

4 + cathode, reduction
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Test which measures the electrical activity of heart is:

Options:
1, v ECE

- &R Emg

5 % Feg

4 = Angiography

Question Number : 95 Question Id : 321011470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, « E€g

, &« EMG

5 Eeg

4 # TTSTAETHT

Question Number : 96 Question Id : 321011471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The clear, straw-colored liquid portion of blood that remains after RBC. WBC and platelets and other cellular

components are removed is:

Options:
1 # Sserun



>  Pplasma
5 ® Cytosol

4 ® Chyme

Question Number : 96 Question Id : 321011471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 321011472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EMG measures:

Options:

, w Electrical activity of the heart

- » Electrical activity of the brain

- u Electrical activity of the visual cortex

4 « Electrical activity of the muscle

Question Number : 97 Question Id : 321011472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EMG 3919:

Options:
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Question Number : 98 Question Id : 321011473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where in a eukaryotic cell, DNA can be found?

Options:
1 « Nucleus

> % Mitochondrion
%z % Vacuole

Golgi body

Question Number : 98 Question Id : 321011473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 321011474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An artificial limb, a sensory substitution system, or an augmentative communication aid is:
Options:

, = therapeutic device



- u diagnostics device

= % orthosis device

4 prosthetic device

Question Number : 99 Question Id : 321011474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 321011475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Glycogenolysis is:

Options:

, « the breakdown of glycogen to glucose

- % synthesis of glucose from carbohydrates
- » synthesis of glucose from amino acids

, # breakdown of glucose to pyruvic acid

Question Number : 100 Question Id : 321011475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Ceneral Aptitude

Section Id : 3210118
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 32101114
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 321011476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 & o
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Question Number : 101 Question 1d : 321011476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the mistier of Health and Family Welfare in government of India?

Options:



, w Sushma Swaraj

Witin Gadkari

P
#

2 « J. P. Nadda

i

Uma Bharti

o
®

Question Number : 102 Question Id : 321011477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Unhappy India?
Options:

, « LalaLajpat Rai

> % Mulk Raj Anand

= % Subhash Chandra Bose

, » Bal Gangadhar Tilak

Question Number : 102 Question Id : 321011477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:
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5 % dj?ﬁﬂ IS Hlelg
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Question Number : 103 Question Id : 321011478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What’s the capital of Lakshadweep?

Options:



% Daman and Diu

o % Minicoy

2 « Kavaratti

« Puducherry

Question Number : 103 Question Id : 321011478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 104 Question Id : 321011479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The First Opium War was fought between?
Options:

; + China and the British Empire

> % India and the British Empire
% % China and Vietnam

4 % China and France

Question Number : 104 Question 1d : 321011479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 321011480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the state bird of Maharashtra?
Options:

| % House Sparrow

-  Green pigeon

- » Hill Myna

4 % Indian Roller

Question Number : 105 Question Id : 321011480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Shuffling Allowed : Yes



Question Number : 106 Question Id : 321011481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three of the alternatives follow a certain relation. Find the instrument which does not belong to the group?
Options:

1 % GQGuitar

> % Violin

5 Conga

4 % Cello

Question Number : 106 Question Id : 321011481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 107 Question Id : 321011482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prathik along with his three kids were watching cricket match on television. There was an advertisement for remote
controlled toy car. The phone number flashes on the screen briefly and they all try to remember the 10-digit phone
number. By the time Prathik grabs a pen and paper. each of them recollects a different number

1: All of them agree that the first three numbers are 989.

[ £

: Three kids agree that the fourth number is 6.

L]

: Three agree that the fifth sixth numbers are 28.
4; Three agree that the seventh eighth numbers are 38; all are agree that the last two digits of 10digt number is also 42.

Which of the numbers is most likely the telephone number of the advertisement?

Options:
| ® 9892863842

5 9896283842



5 % 9892838426

4 % 9869382842

Question Number : 107 Question 1d : 321011482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 9892863842

> « 9896283842
- = 9892838426

. % 9869382842

Question Number : 108 Question 1d : 321011483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During morning walk in a garden. Pointing to Rajesh Padma said “he is the brother of my uncle’s daughter”. Then how
is Rajesh related to Padma?

Options:
1 % Uncle
> « Cousin

= % DBrother

4 % Grand father

Question Number : 108 Question 1d : 321011483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 & =I=T

o v T ST
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4 % GIETs

Question Number : 109 Question 1d : 321011484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figures carefully and identify the similar figure among the alternatives, which having analogues
relation to the given set of figures

o000
o\;
e.;f
®“‘u

Question Number : 109 Question Id : 321011484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 321011485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 321011485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the data given carefully and answer the question
The following Venn diagram shows information about number of officers who speak three different langnages in the
army camp at XYX

Punjabi Bengali

é&

Hindi

How many officers speak only two languages in the camp office.?

Options:
1. = 32

2 « 34

Question Number : 111 Question 1d : 321011486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 321011486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line what would be the result of the folding.

VA
o

Options:

XX |
of

1 % '

o o

Question Number : 112 Question Id : 321011487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the series.

4,12, 36, 108, ?



Options:
1, * 325

5 ® 314
oo 324

4 % 344

Question Number : 112 Question Id : 321011487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4, 12,:38, 1087
Options:

, % 325
, & 314
2 324

. ® 344

Question Number : 113 Question Id : 321011488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seven children takes part in a caroms games contest. Each one has to play with every other one. How many games must
they play?
Options:
1 ® 28

P
S
I-J
-

Question Number : 113 Question Id : 321011488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

oo 21

Question Number : 114 Question 1d : 321011489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the number pair from the given alternatives which holds the analogous relation as the given.

144 : 13
Options:

; % 169:12
] 324 : 17
= % 289:16
4 22516

Question Number : 114 Question 1d : 321011489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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144 : 137
Options:

, ® 169 : 12
> % 324 + 17
5 % 289 : 16
4 & 225 : 16

Question Number : 115 Question Id : 321011490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If L stands for — . M stands for — N stands for =, P stands for =+,
then what would be the result of the following expression.

‘EN3L18P6MG’ ?
Options:
1 ® 16

- R 15

Question Number : 115 Question Id : 321011490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

4 v 21

Sub-Section Number: 3
Sub-Section Id: 32101116
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 321011491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A number X is short of Y by 20%. Then what percent is Y in excess of X?

Options:
1 % 20%

> % 50/3%



Question Number : 116 Question 1d : 321011491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L % 20%
. % 50/3%
2 % 12.5%

g 25%

Question Number : 117 Question 1d : 321011492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i
If a?b® +

T 51. then the value of ab — 2 s

i

i
Options:
1 6

> o 7

.UJ
#
LA

Question Number : 117 Question Id : 321011492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 5

> 7

3%‘35



Question Number : 118 Question Id : 321011493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of two similar triangles are in the ratio 9 : 16. Then the areas of these triangles are in the ratio.

Options:
{ ® 256:81

5 o BL5256

4 % 9:16

Question Number : 118 Question Id : 321011493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % 256 : 81
> % 3.4

z « 81 : 256
4 % 9: 186

Question Number : 119 Question Id : 321011494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a rectangular field is 144 m? . If the length had been 6 m more, and the area has also been 54 m? more, then
the original length of the field is:

Options:
i % 12m
>~ % 18m

= % 14m

4 o 16m



Question Number : 119 Question Id : 321011494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

4J16m

Question Number : 120 Question Id : 321011495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two right circular cylinders of equal volumes have their heights in the ratio 1 : 2. Then the ratio of radii is:

Options:
1. #® b ks ;
o ® s

4_&3124

Question Number : 120 Question 1d : 321011495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question 1d : 321011496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The perimeters of two squares are 48 cm and 36 cm. Then the perimeter of a third square whose area is equal to the
difference of the areas of the two squares is given by:

Options:
{1 ® 1l6cm

o> % 24cm

o of 121,!’7 cim

4 ® 28cm

Question Number : 121 Question 1d : 321011496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I gr 91 & IAT 48 cm 3T 36 cm §, dF TF JEL 9 FT olAT A9 fiew, THer d56a g4t
eIt & STFAT F HA F SET 2

Options:

; # 16 cm

- % 24 ¢m
s« 124/7em

4 % 28 cm

Question Number : 122 Question 1d : 321011497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A right pyramid 10 cm high has a square base of which the diagonal is 10 cm. The whole surface area is:

Options:
1 % 220 cm?
5 # 210 cm?

= # 205 cm?

4 « 200 cm?

Question Number : 122 Question 1d : 321011497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1w 220 cm?
> % 210 cm?
= % 205 cm?

4 v 200 cm?

Question Number : 123 Question Id : 321011498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(1+ sin 8)(1—sin )
{(1+cos8)1-cosf)

If cot® =g . then the value of 1s equal to

Options:
20

10

25

15
g4 18

Question Number : 123 Question Id : 321011498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o (1+sin 8} {1—sin &)
R cotd = 6’ Fﬂ- (1+cos8){1—cosd) ol Hi=l s a? ERERS %-l
Options:
20
10

2.%‘%&E



25
3¢ 36

15
4 ® 18

Question Number : 124 Question Id : 321011499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The angles of elevation of the top of a tower from two points at a distance 4 m and 16 m from the base of the tower and
in the same straight line with it are complementary. Then the height of the tower is:

Options:
1 ® 6m

= % 12m

LT Om

Question Number : 124 Question Id : 321011499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 6 m

2« 8m

43&9”1

Question Number : 125 Question 1d : 321011500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Histogram can be used directly for:
Options:

, w secondary data



> o continuous data
% % discrete data

, % primary data

Question Number : 125 Question Id : 321011500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

RemmE # 3vge @ & B B o1 @5ar gl

Options:

| &fdrge srar
>« Fdd STeT
=z ® HEdd =141

4 % UTATHF sTaT



